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RNAE=GHEKE) W= 118.0 kg RILEMSE D LGA= 657 mm
EIN=T hG= 500 mm ETOE# LGB= 535 mm
RILERIRY LA= 1419 mm ML AR M10
LB= 1271 mm RILMEAREL n= 4 K
ARV nt = 2 A
BETREESE. MERBICHTIHERR
RETREEERE KS 1.0 15 2.0
Hhigi (% 4 Z 1.0 1.0 1.0
RETRAKEEE KH=KS xZ 1.0 15 2.0
RETAKEED FH=KH X W 1.16 kN 1.73 kN 2.31 kN
RETHRESEED FV=FH/2 0.58 kN 0.87 kN 1.16 kN
Toh—RILESIHR A RILER 7SV ABI(RbA : Fx K1)

0.67 kN 0.85 kN 1.03 kN
FH X hG+(W x 9.8+FV) X (L-LG)

Rb = N o =
LXnt *RJLE R/ BAEI(RLB : 5z K1)

0.73 kN 0.93 kN 1.12 kN
* L:LAX (LB, LG:LGAE/=[ILGB

Toh—mRILM ARG HE
FH A:7R)LNEREFE 053 kN/cm?| 079 kN/cm?| 105 KkN/cm?
T=  n-A M10  0.55cm?
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HEMIERBILETVH—RILM(EHRLH)

. o 5.2 = 4.1 = 3.4 =
A K E45mm HEAFAREIIRTTE: 3.8 kN

ETh—HRILEDRYHFBEAMEAEICHNT 2T EER

7RJL I (SS400)
i , 19.2 f& 12.8 f& 9.6 f&
HHHFASEARIGAE:10.1 kN/cm

ATULRRILE(A2-50)

) , 17.4 f& 11.6 f& 8.7 f&
FEHFFEE AMRG A 9.12 kN/cm
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